XA Ty bDEEK

H 1H 2H 3K 4H 5H 6H 7H 8H 9H 108 118 128 B E
K= 60 60 59 58 60 58 57 56 55 54 55 54 54
BREEDE -6 -6 -5 -4 -6 -4 -3 -2 -1 0 -1 0
BID A &R T 0 -1 -1 2 -2 -1 -1 -1 -1 1 -1
aX> b =h ! =h | =h! 25 | &5 | =h ! =h | L2yl ZH! | BEEk| BH! | BEERK
E2EILIRTE60kgTY , 1FEMTOkgDBZEICAKIN L 72888 T, ICEBHCRAZANTHLEL & 5, BEEEDSkgIZT—2E L THEVWEL £ 5,
aX v biE, #wEHB3<=30%$3T. BEDHZFE"BIEEN". BOHE"ENICT B,
BBRFzv Ik ROUNDD#EHE
H=E AL A3 ME=E OKD# | aX> b 86599 ROUND (PUisHE A) 100fhz= 86600
1% OK OK 2 G ROUNDUP (8711 E£1F) 10D = 86600
212 OK OK 2 B ROUNDDOWN (F1Y#7) 10D = 86500
348 OK OK OK 3 %
448 OK 1 F A | 389.82 ROUND (FU#HEA) DIE > 389.8
aX v ME. WERAFI3>=2T, BEOHE"EK". BOBZE "X X HE"ICT 5, ROUNDUP (84 £1F) b= 390
ROUNDDOWN (874 #7) DEE—f= 389
K DAGH 1 > F
LHE—UAEED) ED-1.-2.-3-- DEE (1. F=11.2.3-




